200t gt
000000

e J000:000000IDOOLODOLODOLODOLODOLODOODOOODOOD
gbobobooooooobooobooobboooboooooobooboooobooo
gbooooooboooooboboooboobooon

o J: 00000 DUOUOOUDLDUOUOLUDLDUOUODDUUUDLDDUUUDDODDO
0 vim/s]00O0O0O

v o= (Ug,vy)
N
T dt
dy
vy = —

dt

gobooboboobobooboooboobboobooobddx,y0oono
gboobooboboooooboboooboobooooobooboo

e J00:00000O0O0DOOODOOODOODOODOOODOODLOOOODOODn
00000000000000000D00000 am/s?)0000

a = (ag,ay)

L

T dt dt
dv, d*y

ay = —>=—
dt dt

e JO0O0ODO:000D000DOO0LODOOOLDLOOODOODLOODDOODOODOOD
gbooboooboooboob 2000000000000 0000DO0O0O0O0O00
xdO0O00O0000bO00o00o0o0on

d’x

me

dt
gooooooooooooboooooooood [N}[J[]E]D O

:FLE

e MKSAOO: JOOOOOOOODOODODOODOOODOOOOCOOOODODOOOOO
ooooooOoOoOOOOMKSAOOOOOQOOOOOOOOODOOOOOOO
ooooooooo

e JO0O0ODOOODO:00DOOOLODOOODOLODOODODOODOODDOOODOOD
oboooooboboooooboboooboobooooobobooon



B OmEH = 2R

\

goooboon

gbooood:boboboooobooboboooobooooobobobon
gbooooobooobobooooboooooboao

e NOUDOUOODLOO:ODLOO0DLOODLODLDDbOOLOODLOODLOOn

— 0oobobooboobooooon
— 0ooboooobooboooo
— O0ogo

e J00ODO:00D00D0O00OOODOLOOODOODOOOOODOO

e 00D00D: 000000000000 1[kg)0000000000Og ~ 9.8[kg-m/s2]0
0000000000 1[kg 00000 1[NJOOOO



goooboon

e OUOUO:000OO0DLOO0DLOODODLDDOLOODLOOnOO

000 wlred/s D0000000000000000000[rad 000000
e 000:00000000000000000

goboob:000b000oo0ooobooobooooooooboooobooonboo
gbooooooboooooboo

F=—kx

gooooo

gboooobooooooboooobobooooooboon

r = Asinwt + B coswt

Ub0bdwDOOODOOOO w:w/%DDDDA,BDDDDDDDDD

A
i

t, X

FRF ]
EQ/BY
(AT




goooon

1. 00o0dobd: oo boooobobooouooo
v=(v, 0) v=(v, 0)
e ———

2. 0000000:-00000000DO0O0DOODOODOODODDODLO
d2
FIN] = mlkglalm/s?),  a ="

. 0bbooboobob:-obooboobooobooboooooboobooboooobooboDn
goo




god
00000000000000000

p=muv

goooooooooooobooboooooobooD mOO0O0O0ODODOO0 MODODO
gboooobooooooo

/ /
muiy, = muy, + Muy,

muy, = muy, + My,

gboooo



goooobbd

gbhoboobooboobobobobbooboboboboboboboobooooon
000 ROO0OU=mghO0000O

o JUIDODODOOOOOOO vDDDDDKz%vaDDDD

oooooo00oooOo0o00b0o00 KOoooooooo voooboooo

K = —-mv
U = mgh
K+U = K +U

00o00o0o0oUooUoO00ooO0UO0O0O00 (JJoooOoooDOobDOobDOooOooooo
gbooooooooo

1 1
mgh + imv2 = mgh’ + imv’2

000000000000 000o0DooUoooooooOO Jo

v=0 v=0
A
% EERA s | h
R
-l VA



